FLOE Dock Wedge

6' Wedges Assembly Instructions

3/8 x 2" bolt
full thread
P/N 001-71189-00

Safety quick connect

P/N 002-02079-00

Install quick
connect here

3/8 x2 1/2" bolt
P/N 001-70113-00

Center quick
connects on decal

(

3/8" flat washers
P/N 001-71017-00

M

. Fig. 2 3/8" alum. nut
Fig. 1 P/N 001-76349-00

Safety quick connect
P/N 002-02079-00

Instruction P/N: 610-90001-00
Issue: 2/7/22

Tools Required:

-(2) 9/16" Sockets/Wrenches

Attach quick connects as shown. Center quick
connects on the locating decals attached to the
wedge using the 2 1/2" bolt, nuts and flat
washers provided. Note the location of the
safety quick connects on each wedge.

. 6'wedges use (2) regular quick connects and

(4) safety quick connects.

. Place wedge in corner of (2) dock sections with

quick connects supporting wedge. Screw 3/8 "
x 2" safety bolt in safety quick connect under the
dock frame to lock wedge in place.

Manufactured by:

Floe International, Inc.
48473 State Hwy. 65
McGregor, MN 55760



